Servite College	
* Sepulite Coller	YEAR EIGH 201
* SERVI LOC COMPLEX SOLUCION	17 952 08 E
PLEASE ORDER ONLINE AT <u>www.campion.co</u>	<u>om.au</u>
USING "4QX4" AS YOUR CODE REFORE Eriday 16th December 2016	
BEFORE Friday 16th December 2016 OR SEND YOUR COMPLETED LIST TO CAMPION VIA DETAILS BEL	ow
ALL ORDERS MUST BE PREPAID PREPACKAGED DELIVERY SERVICE	
STUDENT GIVEN NAME(s) STUDENT SURNAME	
ADDRESS	
SUBURB STATE	
PARENT/GUARDIAN MOBILE/PHONE NUMBER	
PARENT EMAIL ADDRESS	
SCHOOL SUPPLIED STUDENT EMAIL ADDRESS	
CREDIT CARD PREPAYMENT - WILL BE PROCESSED AT TIME OF ORDER EN	IRY
MasterCard Visa Card No.:	
Expiry Date: Cardholder's Name:	
Signature:	
▼ TEAR OFF SLIP - PLEASE RETAIN ▼	
Your home delivery order will be dispatched the week ending 20th January 2017.	
Please note: Any orders being returned to Campion by mail must be received two days pric at the top of this page to ensure your order does not incur a late fee.	or to the cut off date
)
CAMPION	
ampion Education (Aust) Pty Ltd	
B.N.: 33 074 318 602 Oxleigh Drive, MALAGA WA 6090	

RESOURCE LIST INSTRUCTIONS

HELPING YOUR SCHOOL / COLLEGE

Please be aware that shopping with Campion, your school's/college's preferred supplier, ensures you receive the correct items and editions. You are also supporting your school/college as Campion assists your school community in many ways.

OPTIONS TO ORDER

HOME DELIVERY

Order online at <u>www.campion.com.au</u> before the date on the front of your resource list to guarantee supply of all items. All online orders must be prepaid.
 You may also post direct to Campion: 7 Oxleigh Drive Malaga, 6090 before the due date on the front of your list.(No cash accepted)
 We recommend you use a Business address for delivery as all parcels must be signed for. If you

We recommend you use a Business address for delivery as all parcels must be signed for. If you are not home to receive your parcel it will have to be collected from the relevant Post Office.

Late Orders

Orders placed online after the cutoff date are considered a late order and will incur a postage and handling fee of \$5.50 per item to a maximum of \$17.50.

Delivery of these orders cannot be guaranteed prior to the commencement of the school year.

While You Wait Service (Malaga or Willetton)

Please note long delays will be experienced in the two weeks prior to the commencement of the school year and availability of all stock lines cannot be guaranteed at this time. All back ordered items will be posted and a delivery fee will apply.

Have a Question?

• Please go to www.campion.com.au for further information on account based ordering, store locations, digital support and other general enquiries.

REFUNDS	TRADING HOURS		
Refunds will be given on TEXTBOOKS/WORKBOOKS ONLY in	Monday - Friday	9:00am - 5:00pm	
NEW condition up to February 2017 or 2 weeks after the purchase date (whichever is later). We will gladly refund or exchange any goods deemed faulty from the manufacturer.	8:30am	ading Hours_ rdays - 2.00pm - 4th Feb 2017	

INSTPRIHDWA

Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	SCHOOL RESOURCES					
	Please note that there are digital products (eCoded) on					
	this Resource List. These items can only be ordered online,					
	and cannot be refunded. These products are single user licences and are only valid for 1 year (unless otherwise					
	stated).					
	ALL STUDENTS PLEASE NOTE					
	- EBOOKS MUST NOT BE REGISTERED AT HOME. REGISTRATIONS WILL					
	OCCUR IN CLASSROOMS - <u>ALL STUDENTS WILL BE REQUIRED TO PROVIDE A USB 16G</u> B					
	POCKET FLASH DRIVE FOR USE ACROSS ALL LEARNING AREAS					
	- ALL STUDENTS MUST HAVE THEIR OWN EARPHONES FOR HEALTH					
	REASONS					
DEE / 10	COMPUTER STUDIES		_			
P55442 P56388	Display Book A4 20 Pocket Black Refillable Loose Leaf Refills Reinforced A4 7mm Pkt 100	1 2		1	1.95 2.95	1.95 2.95
100000		Z		1	2.35	2.35
	DANCE NO TEXT REQUIRED					
	DESIGN: DIMENSIONAL DESIGN					
P56677	Visual Art Diary A3 110gsm 60 Sheet/120 Page	3		1	8.70	8.70
P58550	Pencils-Coloured Micador Water Soluble Pkt 12's	4		1	5.35	5.35
	DESIGN: FABRICS TECHNOLOGY					
P55442	Display Book A4 20 Pocket Black Refillable	5		1	1.95	1.95
	DESIGN: WOOD TECHNOLOGY					
P56172	Pencil (HB)	6		1	0.80	0.80
	Safety glasses ProChoice Fusion Clear USE SET PURCHASED FOR SCIENCE					
	DRAMA					
	NO TEXT REQUIRED					
	ENGINEERING					
	NO TEXT REQUIRED					
	ENGLISH					
P08583	Harry Potter and the Philosopher's Stone (Children's Ed) [J.K. Rowling]	7		1	16.99	16.99
P55097 P56388	Lever Arch File A4 Board Loose Leaf Refills Reinforced A4 7mm Pkt 100	8 9		1 3	4.35 2.95	4.35 8.85
P55707	Dividers PVC A4 10 Tab Multi/Coloured	10		1	2.95 3.45	3.45
P55480	Document Wallet Polydoc Foolscap Black	11		1	2.35	2.35
	FOOD SCIENCE TECHNOLOGY					
P55442	Display Book A4 20 Pocket Black Refillable	12		1	1.95	1.95
P55440	Display Book A4 Refills Pkt 10	13		1	0.95	0.95
	HEALTH AND PHYSICAL EDUCATION					
P55546	Exercise Book A4 8mm 64 Page	14		1	1.10	1.10
	COLLEGE SPORTS UNIFORM AVAILABLE FROM THE UNIFORM SHOP					

Please tick the items required in the box provided \downarrow

Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
F0 (700	HUMANITIES					
E01798	Digital Humanities Alive 8 for AC Bundle VP (Access Code)	15	ORDER ON	ILINE 1	44.95	44.95
P55554	Can only order online at www.campion.com.au – no refunds Exercise Book A4 8mm 128 Page	16		1	1.80	1.80
		10		I	1.00	1.00
	INDONESIAN					
P01467	Keren 1 - Indonesian Coursebook [White]	17		1	58.95	58.95
P01465	Keren 1 - Indonesian Activity Book [White]	18		1	33.95	33.95
P01333	Oxford Study Indonesian Dictionary (2nd edn) [Sahanaya (Ed.)]	19		1	26.95	26.95
D55440	TEXT, WORKBOOK, DICTIONARY TO BE RETAINED FOR YEAR 9	~~	_		4.05	4.05
P55442	Display Book A4 20 Pocket Black Refillable	20		1	1.95	1.95
P55546	Exercise Book A4 8mm 64 Page	21		1	1.10	1.10
	ITALIAN					
P02337	Tutti Insieme Level 1 - Student Text [Vecchio et al]	22		1	65.95	65.95
P09065	Tutti Insieme Level 1 Student Workbook [Vecchio et al]	23		1	31.95	31.95
P03438	Collins Pocket Dictionary Italian (In Colour)(7th edition) [Collins]	24		1	19.99	19.99
	TEXT, WORKBOOK, DICTIONARY TO BE RETAINED FOR YEAR 9					
P55442	Display Book A4 20 Pocket Black Refillable	25		1	1.95	1.95
P55546	Exercise Book A4 8mm 64 Page	26		1	1.10	1.10
	MATHEMATICS					
P00231	Nelson WA Maths for the AC 8 Revised Edition (Print & Dig) [Stephen Corcorar et al]	27		1	66.95	66.95
P55285	Calculator HP Scientific HP-10s	28		1	24.45	24.45
P56353	Protractor 10 cm 180 4" Half Circle	29		1	0.45	0.45
	MUSIC					
P52001	Pencil (2B) Goldfaber	30		2	0.55	1.10
P50808	Music Manuscript Pad A4 Double Sided Punched 50's	31		1	11.95	11.95
P55442	Display Book A4 20 Pocket Black Refillable	32		1	1.95	1.95
	PHOTOGRAPHY					
	Digital Camera 10+ Megapixels or mobile device:					
	NOT AVAILABLE FROM CAMPION					
	RELIGIOUS EDUCATION					
P55554	Exercise Book A4 8mm 128 Page	33		2	1.80	3.60
P55492	Document Wallet FC Slimpick Blue	34		2	0.95	1.90
	Text Book Levy 'Come Follow Me'	35	$\overline{\mathbf{A}}$	1	15.00	15.00
	DISTRIBUTED BY THE COLLEGE		_			
	SCIENCE					
P05506		26		4	60.05	60.05
P55492	Science Quest 8 AC 2E Print/eBook+ [Lofts]	36		1	69.95	69.95
P55554	Document Wallet FC Slimpick Blue	37		2	0.95	1.90
P55554 P55671	Exercise Book A4 8mm 128 Page	38		2	1.80	3.60
	Graph Pad A4 5mm 25/40 Leaf 7 hole punched	39		1	1.95	1.95
P56402	Safety Glasses ProChoice Fusion Clear RETAIN FROM LAST YEAR	40		1	13.70	13.70
P55223	VISUAL ARTS: ART AND DESIGN	11		4	2.05	0.0F
1 00220	Brush Roymac Achiever White Taklon Round 02	41		1	2.95 8.40	2.95 8.40
D55000				1	8 40	0 10
P55239	Brush Water Colours Taklon #907/6	42				
P55239 P55522 P56291	Eraser Plastic Pencil Economy in sleeve Marker Artline #70 Black (Xylene Free)	42 43 44		1	0.40 0.70 4.30	0.70 4.30

Please tick the items required in the box provided \downarrow

Office Use	Description	ltem No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
P50440	Pen Stabilopoint 188 Black	45		1	2.25	2.25
P52001	Pencil (2B) Goldfaber	46		1	0.55	0.55
P52013	Pencil (4B) Goldfaber	47		1	0.55	0.55
P52014	Pencil (6B) Goldfaber	48		1	0.55	0.55
P56677	Visual Art Diary A3 110gsm 60 Sheet/120 Page	49		1	8.70	8.70
	GENERAL STATIONERY					
P52082	USB Pocket Flash Drive 16GB NO RETURNS	50		4	12.95	12.95
P50345	Earphones Stereo Ultra Lightweight With Adapter	51		1	11.95	11.95
P55522	Eraser Plastic Pencil Economy in sleeve	52		1	0.70	0.70
P51353	Glue Stick Artline Purple 40gm	53		1	2.50	2.50
P50113	Markers Faber Project Wallet 12 Assorted	54		1	2.95	2.95
P56094	Pen Ballpoint Cap Type Black Medium	55		3	0.35	1.05
P56095	Pen Ballpoint Cap Type Blue Medium	56		3	0.35	1.05
P56096	Pen Ballpoint Cap Type Red Medium	57		3	0.35	1.05
P50271	Pencil (HB) Goldfaber	58		3	0.55	1.65
P58550	Pencils-Coloured Micador Water Soluble Pkt 12's	59		1	5.35	5.35
P56414	Ruler 300mm Plastic Clear	60		1	0.70	0.70
P56245	Sharpener Pencil Metal Single Hole (HQ)	61		1	0.85	0.85
P58507	Scissors Yellow Handle 155mm/6"	62		1	3.05	3.05

Number of Boxes ticked:

\$0.00

ESTIMATED AMOUNT DUE (PRICES CORRECT AT 08/11/16)

Delivery, packaging & handling

\$